MRS IRERERER (FR2943A1H~3A8HRE) _ B F LA ELEDRE B IFREM S ICEEHEDEEYTY $695

N = = Wt #E= (1 Sv/h) L | BREZERE N = A s = Bt#8= (1 Sv/h N EEES
NO | EES AEE A L L R Y v No | EES A2 BHBRUSIR) | gy RS

1 A—4 EIZ_EI#%)_\EI 0.31 0.32 0.32 Bh 62 D—6 |+ EErEkiS 0.12 0.13 0.12 BEh O
2 B—3 ﬂv\ﬁx{stﬁ 0.14 0.14 0.15 BEh O 63 D—6 |HEgl—1—492(NE) 0.13 0.11 0.11 BEh O
3 B—4 E./j]ll*%ﬁ'ﬁ 0.17 0.17 0.17 BEh 64 D—7 | EtHEAREFMME 0.13 0.13 0.13 BEh O
4 B-5 fgﬁyﬁﬁﬁﬁ 0.10 0.10 0.10 Bh O 65| D—7 |FHERBEEUVE 0.13 0.13 0.13 BEh O
5| B—5 |A#ihtRER 0.10 0.11 0.11 Bh O 66] D—7 [/NAEEMA 0.16 0.18 0.19 BEh O
6 B—5 |&IxHFT) it 0.09 0.09 0.09 BEh O 67 D—7 |2)I|Hhiz 0.11 0.11 0.11 BEh O
7 B—5 i(ﬁ?ﬁ)ﬁi& 0.11 0.11 0.12 BEh O 68 D—7 |BBULEX400mAEfHE 0.11 0.11 0.11 Eh O
8 B—5 | FERIEA 0.09 0.09 0.10 BEh O 69 D—7 RiERAO 0.12 0.12 0.13 BEh O
9 B—6 ‘F%ﬁﬂi'AEﬁE 0.13 0.14 0.13 BEh O 70 D—7 |EHERERLAE 0.26 0.21 0.19 BEh O
10 B—6 ‘Fi;lﬁagllﬁ_;g i 0.11 0.11 0.10 BEh 71 D—7 3B EHE T (BR) Al 0.13 0.13 0.14 = O
11 B—6 ;ﬁa;nrgﬂ.%ﬁl:l (F0O) ik 0.09 0.10 0.09 Bh O 72| D—8 |FEII(FH#iE) 0.13 0.14 0.14 BEh

12 B—6 ::ﬁf:;f:‘ 0.08 0.08 0.08 Bh O 73 E—2 |[MFEFE 0.19 0.19 0.20 BEh O
13 B—6 c:mguﬁg& 0.12 0.12 0.12 BEh 74 E—2 |EAFCER B 0.10 0.10 0.10 Eh O
14 B—6 |FHHABHE _ 0.16 0.15 0.15 Bh 75| E—3 |B/EDihigE 0.23 0.22 0.22 BEh

15 B—6 faj/JiJAEﬁ:EHu 0.14 0.15 0.15 BEh O 76 E—4 [EBEAREERI 0.08 0.08 0.08 BEh O
16 B—6 *L%gﬁﬁﬁﬁ _ ‘ 0.11 0.11 0.11 BEh O 77 E—4 |HE% /R 4> B AR 0.14 0.14 0.13 BEh O
17/ B—7 [/NAEFHIR(ERATENE L) 0.13 0.13 0.14 Bh O 78] E—5 |FIRA LfHE 0.08 0.09 0.10 £l

18 c—3 czﬁﬁ‘:tﬂgg]\u ‘ 0.18 0.18 0.18 BEh 79 E—5 |8ERAIHE 0.12 0.12 0.12 Eh O
19| C—3 [#/At=6ith AOHE 0.13 0.15 0.16 BEh O 80] E—6 [—/XH#A 0.11 0.12 0.12 BEh O
200 Cc—4 [#BOLUMA ‘ 0.16 0.16 0.16 BEh O 81 E—6 |t EFFRER=FZmFE 0.14 0.14 0.14 Eh O
21 C—4 Tﬁﬂx(lqﬁﬁrsﬁﬁ) 0.10 0.10 0.10 Bh O 82 E—6 [/NHEHIT~ S AHA 0.15 0.15 0.14 BEh O
22 C—4 51?17&1?}1#;& 0.29 0.25 0.23 Bh 83 E—6 AXEOEYT SR 0.26 0.26 0.26 BEh

23 C—4 fﬂiw D—2R30 (AE) (1) 0.11 0.11 0.11 BEh O 84 E—6 gt GEHFSAAO) 0.13 0.14 0.15 Bh O
2] C—5 aa%"AEﬁE‘ 0.08 0.09 0.09 En O 85| E—7 |FRELREZMHAE 0.28 0.28 0.26 BEh O
25 C—5 A LU b s 0.12 0.13 0.13 BEh O 86 E—7 BISRXTERI 0.14 0.14 0.15 BEh O
26 C—5 jc%i?ﬁ 0.11 0.11 0.12 BEh O 87 E—7 [BHRAREER 0.15 0.15 0.15 BEh O
21| C—5 |TFHEEEMHA 0.28 0.27 0.24 BEh O 88)] E—7 |HERAREEAI+FIRAE 0.10 0.10 0.10 Eh O
28 C—6_ |D2FELE _ 0.16 0.15 0.14 Bh O 89 F—4 /i 0.26 0.26 0.25 BEh

29] c—6 4;%)?53 N REERT 0.12 0.12 0.11 B @) 90| F—4 |HREMREEL I—EIEHIGH 0.09 0.09 0.09 =l @)

300 Cc—6 BT XM A D ~ ‘ 0.20 0.19 0.18 BEh O 91 F—4 [HFEEE AEHE 2 —HI 0.13 0.13 0.13 BEh O

31 C—6 EMI%i&Eﬂ*;&?&Nﬁ;‘%E 0.40 0.37 0.30 BEh 92 F—5 [sAMA#tA(R289H5500m% LA E) 0.15 0.15 0.15 BEh O

32l C—6 L,/v'g'l,\a’_l_}ﬁl] 0.14 0.14 0.13 BEh O 93 F—5 [ZERARER 0.11 0.10 0.10 BEh O

33] C—6 #*%%\%ﬂﬁ ___ 0.19 0.19 0.18 Bh O 94 F—5 [RBt 4—ZREl 0.23 0.24 0.23 BEh

34| Cc—6 |F=IFEB ﬁ_%fﬁiﬁ%ggi‘!ﬂ 0.10 0.09 0.09 Bh @) 95| F—5 |ZESEBERESH/OE 0.11 0.11 0.11 B [@)

35/ C—6 IJ.I'F1%1§§*E$JJ:'&.‘/Z_— (HEA F) 0.10 0.11 0.11 BEh O 96 F—6 |&LtEKithAO 0.10 0.10 0.11 BEh O

36/ C—6 U{Tiﬁgﬁaﬁﬂﬁll 0.21 0.20 0.17 BEh 97 F—6  |MIEHISET Fik 0.13 0.12 0.11 BEh O

37 C—7 |ixnqy \»{ZJ%'J;E 0.11 0.11 0.11 BEh O 98 F—6 EH/N\REHTE 0.14 0.15 0.17 BEh

38 C—7 jqillﬁizz) 0.10 0.11 0.11 Bh O 99| G—1 LFEAF (A -XFER) 0.09 0.09 0.09 BEh

39] Cc—7 /ngL%gﬁ% ‘ 0.15 0.16 0.15 BEh 100/ G—3 |FEEX LEIES 0.12 0.12 0.12 £l

40 C—7 |EEFEAREMFH 0.10 0.11 0.11 BEh 101] G—4 [E3KBERESHISHATR) 0.19 0.20 0.20 £

411 Cc—7 |IEBFEHmEMTAE 0.12 0.14 0.14 Bh @) 102] G—4 |EENEME 0.16 0.15 0.14 ED) 0

42 C—7 i lJJFéﬁ'%ﬁgﬁ 0.11 0.13 0.14 BEh O 103] G—5 [AEDEHUN)—HSTEEEIG R 0.19 0.16 0.15 BEh

43 Cc—7 J?\EP%E%(EIE_E—)’ 0.16 0.16 0.17 BEh O 104] G—5 [BIIF LEBEEHEFFE 0.10 0.10 0.10 Eh O

44] C—7 X$§%nnI¥Fﬁ1¢ﬁ 0.14 0.16 0.17 Bh O 105 G—6 | XKEBHEZH 0.09 0.08 0.09 BEh O

45 C—8 H#%;R(Fﬁﬁiﬁz 0.16 0.16 0.16 BEh O 106] G—6 [EZFTFI 0.11 0.11 0.12 BEh O

46] D—2 |IBY 'F)H—yrb\yhccm:l 0.15 0.15 0.16 Bh 107] H—3 [BH~EiHhis 0.09 0.10 0.10 £l O

47 D—3 5125%%@ i 0.14 0.15 0.16 BEh O 108 H—4 |EBECAHIELEES 0.11 0.11 0.10 £

48] D—3 %1'&&1&‘1?#3& 0.13 0.14 0.14 B @) 109] H-—5 |EfMELEETEGEIIZL) 0.10 0.10 0.10| Eh (3EEF10cm)

49 D—4 .%HJJ@FJ?)M;& 0.13 0.13 0.13 BEh O 110/ H—6 [KERFEHDE 0.12 0.12 0.12 Eh

50 D—4 |EB4Z/ AR 0.16 0.17 0.18 Bh 111 1—3 FaoOl#(E) 0.09 0.09 0.09 £l

51 D—4 J:Sﬂit'AEgE 0.11 0.11 0.11 Bh O 112 1—4 BFaRIOYvARTILAOGME - 0.06 0.05| £ (8FE50cm)

52| D—5 %ﬂtﬁﬁra‘ pElid _ 0.20 0.20 0.19 BEh @) 113 1—4 EEJEACN) 0.03 0.04 0.04 £

53] D—5 aa%‘/]\iiiﬁiii&ﬁu) 0.12 0.12 0.11 Bh @) 114 1—4 BARORX v IHEAO - - - BITIE®

54 D-—5 E%E'AEﬁEnu& 0.13 0.14 0.13 BEh O 115 1—4 A ELERRE 2 AR IR R A5 m OKE S ) - 0.05 0.05| £Y (i&E50cm)

55| D—5 Eﬁﬂfaﬁaﬁggu 0.13 0.12 0.12 Bh O 116 J—5 |FRELUEIEIS - 0.05 0.05| £Y (F&F30cm)

56 D—5 E;/E)u:lﬁ;ﬁ_ i 0.13 0.13 0.13 Bh O 117 K—3 HFroRILAOETHS - — 0.05| £ (5F80cm)

5711 D—6 ZEJ?EIJE:‘JZ\IJJ S R 0.12 0.11 0.11 Bh O 118] K—3 [BFLIE - - 0.03] 11/7(fFHh) —

58 D—6 HFA—TU0E 0.12 0.10 0.09 Bh @) 119 K—3 |JEHAEfFHE — — 0.06] 11/7(Eh) —

59 D—6 |EiFOE#A 0.18 0.17 0.15 Bh 1200 K—3 | KEEREI#HIGFHA - - -| SLAYART

60 D—6 |HEs A+Fi 0.42 0.35 0.25 BEh 121 K—4 [m:E - - 0.04] 9/27(fFh) —

61 D—6 |HERBGEEDLA 0.41 0.32 0.27 BEh 122 K—4 |iEE - 0.04| 9/27(F&FHh) —

O BEEREA AT TEECIAEEEN  EH  BREAEh



